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S ey SIS F(X)=x"+4 5
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Fha YIS y=fx+c) 5 2

> o5 Jlas! m,,'a:&.;gj);@,&pﬁgwgf;bbc;qbfcu; y=f(x) s&5-2
Fha YOS y=Tf(x)-c
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Fha Vol s

y = f(X=C) > bl alys oollla sy Co 3l Salis Y = f(X+C) 5452

(e YIS als

1S oy 638 SR 52 5 it Uil J 1S alis y =% 5 -1

g =x"~-2, g(x)=(x-2)*, g(x)=x"-1, g(x)=(x-2)* +1

A ) =X 42 5w il g 5 55 s LS b F(X) =X 5 -2
255 e 681 8 985 F(X) =/x+2

> et JUil o 3 83 ol £6,8 s S s F(X) = x| 5 -3
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Hos gt o
(Operations on functions)

st i dse WY o lee 355518 8N

(f +9)(x) =f(x) +9(x) (f —9)(x) =f(x)—g(x)

(F-9)(x) = (x). g(x) Goo=L8 gx)20)
g g(x)

dom (f +g)(x) =dom f | domg

dom (f —g)(x) =dom f | domg

dom (f -g)(x) =dom f (1 domg
dom(g)(x)=dom f N domg — {x/g(x)=0}

s (F+0)(X) « g)=x*—4 5§ F()=2x+1 < Jto Gpg!
S My e s S8 s (F49) ()
s
(f+9)(x) = f(x)+9(x)
(f+9)(X)=(2x+1) +(x*—4) =2x -3+ x* =x* +2x -3
domg=IR 4 dom f=1IR
dom(f +g)(x)=IRN IR=1IR
(f+9)3) s (F+9)(X)css g(X)=4x+5 5 f(x)=x>-3 « :Jbo pgd



(F +9)(X) = (x* ~3) + (4x +5) =x* + 4x + 2
(f+9)(3)=3"+4(3)+2=9+12+2=23
domg=IR s domf=IR
dom(f +g)(x)=IRN IR=1IR

cllzd

(f+0)@) o (f+9)(X) «s g(X)=2x+7 5 F(X)=3x"+4x-1 &
L5
S(F-g)X) (F=9)(X) css g(x) = X2 +x—2 o F(x)=2x—1 " Jbo iy

f
s o2 2 ol s 4l 5 S (2)(X)
5 g -
(f=g)(X)=2x-D—(x* +x-2)=2x-1-x* = x+2=—x*+x+1
d :IR ‘ = > 4§.’ S
dom(f —g)(x) = IR N IR= IR omg sdomf =IR (x5~
(f-9)(X)=@2x=D(xX* +x—2) =2x>+ x* =5x+2

dom(f-g)() = IR N IR= IR
f 2x-1 2x -1

(5)()() Txiex-2 (x+2)(x-1) ¢

dom(—)(x) = IRNIR —{x/g(x) =0}

dom(g)(x) ={xIx#-2 4 x#1}

(f—9)(x) o (f '9)(X)4(i)(x) $ug g)=x"=1 4 f(X)=x-5«
: 5 1y



S0, (F-0)X) s g0 =x-1 5 F()=x+3 & Jls pyls
o (é)(x)

‘J>
(f-9)(X)=f(X)—g(X)=x+3—(x-1) =x+3-x+1=4
(f-9)(¥)=f(x)-g(x)=(x+3)(x—-1) = x*+2x-3

sde i 2 X) 3 Jolb Gpae ik Ui (S eolo 4 x5 F(X) Jﬁ&);
domg = IR :Jss ter sy dom f = IR L (o D!
(i)(X)=%=§—j (x=1) dom(f —g)(x)=IRNIR=IR
: - . dom(f-g)(x)=IRNIR=IR
dom(E)(x) =IR-{}

dom(é)(x) = {xelIR/x=1} L
dom(é)(x) = (—o0, DU, ) L

A Fg f-g, T+ g(x)=B+x 5 F(X)=VA-X & Jbo py
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(F+9)(x) =F(x)+9(x) =v/4—x +4/3+X J>

(F-0)(x) =F(x)-g(x) =v4—x —/3+x

(F-9)(x) =F(x)-g(x) = (V4—x) (¥3+X) = /(4= x)(3+X)

=12+ X — x?
f _f(x)_\/4—x_\/4—x
(g)(x)_g(x)_\/3+x_ 3+x

domf:{4-x>0,x <4}y (-0, 4]

\ 4

4321 01 23~



domg:{x/3+x>0,x>-3}, [3,0)

r. ... .. .
——1 >
4 321 01 23 4
(~0 4N [-3, )=[-3, 4]
03 dolor (g s J&alss Tog 5l F—g, f4+g s [_3,4]5
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4 o101 239
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<
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— l >
4 20101 2374
Jobowsos albsomwons b
:A@QJLraqwféy\}};&;)cucﬁf,\;xqcﬁcs
(cf)(x)=c-f(x)
$sC=5 3 F(X)=x*—x+2 5 Jlo pynd
(5 f)(x)=5-f(x) =5(x®—x+2) =5x>-5x+10
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s S Pl KR oY

(55 1y (i)x S (F-9)() . (F-g)(x) , (f+9)(x) -1
g

é(b@fbwﬂé-z

a: f(x)=2x+3 " g(x)=x-1 7 b:f(x)=x-5" g(x)=3x"
c:f(X)=2x2—x-3" g(x)=x+1 d:f(X)=+vx 'g(X)=x-5
e f(X)=vx+4 7 g(X)=+/x-1" f:f(X)=+3x ’ g(x)=+x>-1
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composition of functions

or composite functions

Outputs
Flg(x)) or (Fegdta) )

“” . \ \
Sl V-
514 (90 F)(X) s (fog)(x) s 9(X)=X+3 4 f(X)=x*-2 «e

@5 (F0g)(x)=(gof)(x) &5 H=psS4

52 (g0g)(x) S (FOF)(x) «

Jasiore £(G(0)) L (FOG)(X) ’°f“’g‘d‘7‘:§ff°g§)q;l§’°.ux°g}|f¢§ﬂ’:6
(fog)(x)=f(g(0)=flo()]ess

G(X) 5l (Sarloay Cuymi s G2 X (o2 65 X A il il iy i (fog)(x)
85 Jolds (Saolo gy 5 5

Dom (fog)x ={x € IR/x edomg,g(x) edomf} sl o, s fO g 5L
.‘:;}J.»Lig;ubg@nﬁbgsxﬁ—l

& Joli (Sarlo gy s 5 9(X) -2

il ) 4y o 03 (558 o alaly 4 iile 9935 Wb (O Q)(X) (S UK Sy
(inputkg Oeile (3> 4 0 g(X)k?i(output) T s dnputy X =y ”é
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() |- f(e(x)) 4508 b (Salo g s Fagoo
.‘;.:436‘94.:.15-‘.5 L.;(f) ele TS
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ey (90 f)(X) 5 (fog)(X) w5 g(X) =3x 5l F(X)=x" -1 «:Jto pog

(Fog)(x) = F (@(x))=F (3%) = (3x)? ~1= 9 -1 G

(90f)() = g((f (x))=g(x* -1) =3(x* ~1) =3x* -3

(Fog) ()= (gof) (x) o G I

9x?-1#3x*>-3

(o f)(X) o (fog)(x) ss g(x)=x>+6 5 f(X)=3x—4 5 :Jlo mgd
L;;uﬁ

‘sl;xli(Domainqucm%f;cls g(x) ;L; (fog)(x) g‘;g;ﬁ.:bﬁzda

(s
fO(x))=f(x*+6)=3(x*+6)—4=3x"+18 -4 =3x* +14 )

g(f(x))=(gof)(x)=g(3x —4)= (3x —4)® +6=9x* — 24X + 22

.é::\iy.l.p&si:bdﬂbu@ﬂ; (go f)(x) (fog)(x) :qg-asaxéa)\g.:g

ol
(fog)(x)=(go f)(x) o <ltbes «ss G(X)=X=6 5l f(X)=Xx+6 «
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s T =X 51 g(X) =1-X " Jbwo piys
o Y agof s fog i (55 My (Lo s gof 5 fog s 5,
(—00,00) wigsde i Jyiambo a5 i85 51 [0, 00) ambo iy is s £ Jo

.&gj
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dom(fog) ={x/xe€lR,1-x >0}, - x> -1= x <1=(—01]
Dom (gof ) ={x/edomf ,f(x)edomg}={x/x>0 X e IR} = [O,oo)

(fog)(x)=f(1—x)=+1-x
(@of)(x) =g(vx) =1-+/x

.@)jfng.i‘é.UYa)Lg@L@})Y:fu:@ﬁa}sgg\:;ﬁ.s
fog

(fog)(x)=1[g(x)]
4> e > fog s

A?U@Jx:;foga

U ggesstf
abnmings  aslspedsgs asbcmasts S SRt

52552 65 N(X) > o Coulliige e 5 ,b 553 4 55 (X) =/3x% +1 SiJbop g
So3 ol oY g and S5 S8 550
S5 IS 4 555 S8 592 0JOC0 5 (0 F)(X) 2 55 Y58 o (X) 5 S
85 g(X) =4/x o F(X)=3x2+1 SUss s34
(90 1)(X) = g(f ()= g(3x* +1) =/3x* +1

4 53 IS 4y 55> 58N 5555 JOKI) 5 o hi(X) 3 52 SV Us slen
¢ k() =3x% 5 j(x) =/x+1 iex Is

(Jok)(0) = jk(x))= j(3) =/3x* +1
(fo fo £)(x) o (0 F)(2) f(F(X)ess(x%—2)¢ F(X) =FX24§J&0,‘5Q
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X X
(fof)(x) = X+2 __ X+2 _ X _X+2: X
o X+2X+4 x+2 3x+4 3Kx+4
X+2 X+2



2 2 1
fof)(2) =? (fof)(x —:> fof)(2 e
(fof)(2) =7 (fof)(x) = e (fof)(2) = TR
X X X
X+ 2 _ X+2 . X+2
LR = X - 3% -~ 3x+4x+8
A ")+d T o+a
X+ 2 X+2 X+2
X X+2 X

x+2 7x+8 7X+8
cllzé

(90 f)(=2) . (go f)(X) , (fog)(x) «ss g(X)=x+3 4 f(X)=x* -2
15514 (fog)(3) 5

vor o o
o \O &

(o5 g0 =x% 5 F(X)=-3x+2 -1

s S (F4g)(x), (F-9)(x), (9= )X, (F-g)(x), (%)(X)

i 2 g
MEIOE (%)(x) (F-0)() < 9O =VX—3 5 F(x) = X2 =352

s s KO =X S 0 =VA-x , g(=", 1()=x 1153
e i 515 (100 3 (1R (%)(x)  (F-9)X)
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wS fof Jgof fog ws g(X)=v2-x 5 f(x)=+x <-5
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domainf *=Rangef s Range f " =domf
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(fﬁl(x)im kﬁ&sﬁyfl'l““s);dbfﬂ f lqwjiucu.\ f S

s F(X) ={(1L5)(B,7)(8,-10)} «": Jlio s oo
o S o F1(x)={(6,2)(7,3)(-10,8) } 5
f@=7 f(7)=3
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0 gl en £(X) 5
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Wpls ol sass ol g2pas) 58S 59 535 U S JSE 4y 50 05 gl o Sy S
o e o S w5 ) (g daly i S fi i S e
03 (Sisin o sSne 1l 55 (55 1l o (2 o sSns
6> &b IS JSE 4 5z 505 Usp WY 4 o G 8 o £ LT Jlie g
(650 (Spn posSns
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T 98 Bt S s 5 ,0le seis ol 5 pasds Sy 5 S0
f={22),(3-2,(1,3),(-1,0}
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o F(x) = f(x,) é%ﬁﬁ)' S5 X # Xy Sz Sed i nanon sl f(x) >
a=b=f(a)=f(b) ssazb= f(@a)= f(b):L

o> @lioged o s 5 Sy ndy palionsS

o ansS xSy (55 g(X) = V25— x2 5 T(X)=—4x+12 <" Jbo 33
' Gos wli 4y s a3 SIS (0

&> —4a+12#—4b+12 «ss axh S
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f(2)=—-4(2)+12=-8+12=4 69 X =2 s 4 Jes
) X=34«&
f(3)=-4(3)+12=-12+12=0
azb=f(a)=f(b)
2#3=-4%0
o g(x) =v25-x2 s e pbna s F(X) 5
9(3)=+/25-9 =416 =4 ¢ X=3 &
9(-3)=+/25-9 =4/16 =4 $s X=-3
8 na s g(X) 5323554 F(3)=1(-3)
Caulled

ax‘u}f)‘o)cu xstg.ﬁcl}'oﬁu;@@liu} gt g(X):X2 )‘ f(X):3X+8 s
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(f 0 g)(x) =x
(g o F)(x) =x
(f 0 g)(x)=(g 0 F)(x) =x

(8,5 My f1(x) c\:m,ﬁg‘a@\:: f(X) 5css F(X)=3x+2 " Jlo piy

y=f(x)=3x+2 T

X=3y+2
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